AOVR ED VA
HE AR AR AL i 1 HANSAVFLEX

| _§:3

O K IR R R L g1 2w
BHER 1 HOREM24° 4% '

g02 BSPAMEL EE

@d1

BHER2 £
gges BEAR IR EE

guEx  EE
L2y -3 DIN 2353
ISO 8434-1
[T Gl
®x
BXRE, BA. EXARAATN TIEREN B EESHEREERNERER.
iThiEr
NBR 4 5IH 0 2 54
FPM (fRER) RI% BRI
# &

SR %ﬂf}j_:b

AOVR NW 04 L ED VA L PN 315 6 M12x15 G1/8"-28 13,9 8 24,5 14 14 4.0x15
AOVRNWO04L1/4EDVA L PN 315 6 M12x15 G1/4"-19 18,9 12 27,0 19 14 4.0x1.5
AOVR NW 06 L ED VA L PN 315 8 M14x15 G1/4"-19 18,9 12 29,5 19 17 6.0x1.5
AOVRNWO6L3/8EDVA L PN 315 8 M14x15 G3/8"-19 21,9 12 29,5 22 17 6.0x1.5
AOVR NW 08 L ED VA L PN 315 10 M16x1.5 G1/4"-19 18,9 12 27,5 19 19 75x15
AOVRNWOSL1/2EDVA L PN 315 10 M16x1.5 G1/2"-14 26,9 14 30,0 27 19 75x15
AOVRNWOSL3/BEDVA L PN 315 10 M16x1.5 G3/8"-19 21,9 12 30,0 22 19 75x15
AOVR NW 10 L ED VA L PN 315 12 M18x15 G3/8"-19 21,9 12 34,0 22 22 75x15
AOVRNW10L1/4EDVA L PN 315 12 M18x1.5 G1/4"-19 19,0 12 27,5 19 22 9.0x1.5
AOVRNW10L1/2EDVA L PN 315 12 M18x1.5 G1/2"-14 26,9 14 32,0 27 27 75x15
AOVR NW 13 L ED VA L PN 315 15 M22x1.5 G1/2"-14 26,9 14 32,0 27 27 12.0x20
AOVRNW13L3/8EDVA L PN 315 15 M22x1.5 G3/8"-19 21,9 12 35,0 24 27 12.0x20
AOVR NW 16 L ED VA L PN 315 18 M26x1.5 G1/2"-14 26,9 14 31,5 27 32 15.0x2.0
AOVRNW16L3/4EDVA L PN 315 18 M26x1.5 G3/4"-14 31,9 16 33,0 32 32 15.0x2.0
AOVR NW 20 L ED VA L PN 160 22 M30x 2 G 3/4"-14 31,9 16 32,0 32 36 20.0x2.0
AOVRNW20L1/2EDVA L PN 160 22 M30x2 G1/2"-14 26,9 14 32,0 27 36 20.0x2.0
AOVRNW20L1EDVA L PN 160 22 M30x2 G1"-11 39,9 18 51,0 41 36 20.0x2.0
AOVR NW 25 L ED VA L PN 160 28 M 36 x 2 G1"-11 39,9 18 35,0 41 41 26.0x20
AOVRNW25L 3/4EDVA L PN 160 28 M 36 x 2 G 3/4"-14 31,9 16 35,0 32 41 26.0x20
AOVR NW 32 L ED VA L PN 160 35 M 45 x 2 G 1.1/4" -1 49,9 20 42,5 50 50 32.0x2.5
AOVR NW 40 L ED VA L PN 160 42 M52 x2 G1.1/2"-11 54,9 22 46,5 55 60 38.0x2.5
AOVR NW 03 S ED VA S PN 630 6 M14x15 G1/4"-19 18,9 12 27,0 19 17 4.0x15
AOVR NW 04 S ED VA S PN 630 8 M16x1.5 G1/4"-19 18,9 12 29,5 19 19 6.0x1.5
AOVRNWO04S3/8EDVA S PN 630 8 M16x1.5 G3/8"-19 21,9 12 32,0 22 19 6.0x1.5
AOVR NW 06 S ED VA S PN 630 10 M18x1.5 G3/8"-19 21,9 12 32,0 22 22 75x15
AOVRNWO06 S1/2EDVA S PN 630 10 M18x1.5 G1/2"-14 26,9 14 32,0 27 22 75x15
AOVR NW 08 S ED VA S PN 630 12 M20x1.5 G3/8"-19 21,9 12 34,0 22 24 9.0x1.5
AOVRNWO08S1/2EDVA S PN 630 12 M20x1.5 G1/2"-14 27,0 14 35,0 27 24 9.0x1.5
AOVRNWO8S14EDVA S PN 630 12 M20x1.5 G1/4"-19 18,9 12 42,0 19 24 9.0x1.5
AOVR NW 10 S ED VA S PN 630 14 M22x15 G1/2"-14 26,9 14 36,5 27 27 10.0x2.0
AOVR NW 13 S ED VA S PN 400 16 M24x15 G1/2"-14 26,9 14 37,0 27 30 12.0x2.0
AOVRNW13S34EDVA S PN 400 16 M24x15 G3/4"-14 31,9 16 39,0 32 30 12.0x2.0
AOVRNW 13 S3/8EDVA S PN 400 16 M24x15 G3/8"-19 21,9 12 37,0 24 30 12.0x2.0
AOVR NW 16 S ED VA S PN 400 20 M 30 x 2 G 3/4"-14 31,9 16 42,5 32 36 16.3x2.4
AOVRNW16 S1/2EDVA S PN 400 20 M30x 2 G1/2"-14 26,9 14 38,0 27 36 16.3x24
AOVRNW16S1EDVA S PN 400 20 M30x2 G1"-11 39,9 18 55,0 41 36 16.3x24
AOVR NW 20 S ED VA S PN 400 25 M 36 x 2 G1"-11 39,9 18 47,5 41 46 20.3x24
AOVRNW20S3/4EDVA S PN 400 25 M 36 x 2 G 3/4"-14 31,9 16 58,0 32 46 20.3x24
AOVR NW 25 S ED VA S PN 400 30 M 42 x2 G1.1/4" -11 49,9 20 51,0 50 50 253x24

—

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



AOVR ED VA
HE AR AR AL i 1 HANSAVFLEX

% &

LR éfFJ:T:jJ @ d1 G1

(mm)

AOVR NW 32 S ED VA S PN 315 38 M52 x2 G1.1/2"-11 54,9 22 59,5 55 60 33.3x24
ZHRFLL=FER =R S=E - PN=#IEESH PB=BRAIEESN - 0d1=EHER
FREHK

AOVRED fEAIZIERE, &

&4
WDV A TEDRIIE N R

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao

24.08.2025 HANSA-FLEX AG www.hansa-flex.com 2



